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Blood-type Time-series Analysis via Excel Spread-sheet

Wataru MOGI and Masaaki SHINOHARA



BB+£BO+1A=

| 2. .

Ay

AQ

BB

BO

8]8]

AB

FBot{

0.23

015

0.06

017

0.28

01

B

0126025

03185

0.038025

01755

02025

0.138%

Foft

0126025

03185

0.038025

01755

02025

01385

ECILRRY

0126025

0.318%

0.038025

01755

02025

0.138%

Bath{t

0126025

03185

0.038025

01755

02025

01385

ESILRRY

0126025

03185

0.038025

01755

02025

0.138%

Both{t

0126025

03185

0.038025

01755

02025

01385

BT

0126025

03185

0.038025

01755

02025

013684

Bat

0126025

03185

0.038025

01755

02025

013584

Fot{t

0126025

03185

0.038025

01755

02025

013584

10

0126025

03185

0.038025

01755

02025

01354

11t

0126025

03185

0.038025

01755

02025

013584

F12tE

0126025

03185

0.038025

01755

02025

013684

213t

0126025

03185

0.038025

01755

02025

013584

F14HE

0126025

03185

0.038025

01755

02025

013684

E1ot{

0126025

03185

0.038025

01755

02025

01354

16t

0126025

03185

0.038025

01755

02025

013584

17

0126025

01755

0038025

01755

02025

01384

21 st

0126025

03185

0.038025

01755

02025

013584

F1 9t

0126025

03185

0.038025

01755

02025

013684

Eo0H

0126025

0.318%

0.038025

01755

02025

013584

P

AA AQ
A A ABHACHZ OOHADHEONZ
AD AASPHABRHAD)/ S (AA+ACHDON 2 +HABHB O 4
[=]=] 0 0
=[] 0 AASZHADHAR S
oo 0 AAHADHARL/ 2
AB AdSZHABHADL S 00/ 2+HADTE0N S

|=]=] BO
A 0 4]
AD 0 BE/2+HBO+AR/S
[=]=] BE+HEO+ARN OOHADHECNZ
=[] BE/2+(BO+AE)/4 (BE+EC+00)/ 2+ AD+AEN 4
oo 0 BEHEO+ARNZ
AB BE/2+{BO+ARNS 00/ 2+HADTE0N S

u]a] AR
A 0 BEHEO+ARNZ
AD 00/2+H AD+BDI/4 BE/2+HBO+AR/S
[=]=] 0 AAHACHAEL S
=[] 00/2+HAD+BO/ 4 AASZHADHAR S
oo Oo+HADHBON?Z 0
AB 0 CAATBE+HAE 2+ ADHRON G

Xi
PT
( +1)
P X;
P=P’
( +1) Xi+1
_ pT
Xi+l - P| Xi ( )

+1

1000

)

1000

15

12

+1

49




X () 035
AO
03
_ T
Y, =X +BP X, () 025
[ee)
02
20 |
( ) 015 B
AE
0.1
005
+1 Xi+1 ==
o |
FO0HfL F2008E 4 FA00HE iﬁt}ﬂﬂ‘fﬁ.
Y
Xi+1 ~ 6 ( )
Z yiq>
=1
T AA
Xa = AT, ()
A - BR ()
1+B Q
(3 2001
9.3 1000 0.0093 0
BB
@ |
m AC nE B0 [t B 0
o 223 a1s 005 Q17 028 ol
W1 oot f] 0167225| 0952335] 0046733 0173371 | 02371 77| 0123714
Waon ] o01422] a2aa131 ] aoa14aa] 01 7a644] 021a112] 0132468
200t 0132404 ] 0308954 | 00a9392] 01 75158| 0207644 | 01 36058
Haoofh{t] o) 2e888] 0315321 | Q038547 01 TER64 | D204E8T [ 01 3TS0R
BEoof ] 0127041 [ 0317844] 003824) 01 TE44E| D2033EE( 01 38074 Q
WSoaff] 0176454  03188] 00OA116] 0175477] 00PRET | 01 3A761 AR AD =L BO il AQ
HEEaa i 012645 0319306] 0038115] 0.1 75477| 0202856 0138253 A L ‘*; o o 3 o
Woost ] 01 zeaa7] ogeas] ocesnna| 01 75478| D202Ess | 0198284 sl 174 1:2 L O 174 9
WEOS 4] 01 2AAAT] O AR B O00E 1] 01 75476] OS00RE | 0 I000A Z[z] 1] o 1 1] 5] 0
W=7 kY o1 z6430| 0318825 | oo3an1z] 0175478] 020zB4n| 0130287 B0 o 0 1/4 1/2 144 0
Msoal (] n) #esas | o3883z) oosan 2] o) 754 78| o2oeRds | 0138268 0o 0 L] 0 L 1 Ly
Foast 4] 0126431 | 0318838] 0038111 ] 0175478 0202642 01383 AE 1/4 L] 174 Lt 0 1/4
Weoott ] 0176427 oa1aea] acoant | 0175478] o2oea38] 013A30

600

600



. =R'x ()

0.35
03 o0
Ri = rnl:)i +(1_m)Qi () 025
A
0z b A
BO
o AB
BB
005 -
o [ OTTE (AO+BO) ! 0 |
4 FOK E5HT F10f#4K  S15#f Fzo#s
+{1—m)-0
. AB
(m=0.5)
[AL+(AD+AB) 2]
+ (T —m)-1 035
03
m (BB +(BO+ABY2) oo
25
+ (1 —rm)- o st
00 oz )Q =
05
BO
o AB
BB
005 -
0 |
R FOHEHK E51HT FE108#4E 158K Feolit
Ak ALY =
Ag | il ABe AQH 2]+ ~m- § il O A CHEI0 2 = | (m 0-9)
AD | sy 2 e nme ADH 4 H =nad- 1A Il Ade AT D002 #L AR B3 A =l 152
=] me ] =m0 e O] =i
B me 0 =ml- 0 ks F AT AR A ] = O
[ils] v ] = 1) LA AT AR Z T+ =m)- 01
AE | mlAAEHASSADN 4+ —m- 174 el DO 2 HACHEDN 4 - O
HE B0
Ay 0 D] =l 0 e D = O i+1
AL v ] = 0 w2 RO AR A =m0
BE | miBEHEC 2B 2] =m 1 mIOCH AR 2+ =m0 |
BO | mIBE F+H BT AR+ —m 1 /4 [l BB+ B DO FH AT AR 1+ =ml- 1 /2
[ils] v 0] = 0 VP FICH AP 2 = O AO BO
AH [ mIBE/EHED=AELATH] —mi- 1./4] el A EHACHEIDN 41— O |
AB
(n]n] AR
Ay me O] =ml- 0 miBE+H B AR 2] =m0
A |0 2L AT A A = 1 74 mIBEE + R AR A =m0
EE me 41 = O MIAAH A ABNZT#4) =m0
B [mi00y 2+l a0 RO A1+ —mi1 /4 A AT AR A =
00 | e O AT ACD e =m)- | v (1 =t 00
AE me 01 —mi- 0 il AR EEABN 2+ ACFBON AT —mi 1 /2|
05 Hardy-Weinberg
045 ==
ol - | (2002) pp75-78
/ []
025 -
0z - Es |
015 -
o
005 - [
o b0 o 8 | (2002)
FOHEHK E51HT FE108#4E 158K Feolit pp79-82

(m=0)



